t

N & 0l & At

g Al

HE - B (3H) - KISAY - BYS il HImEET
717,975 859,793 A 141,818
< 1,170
Al 716,805
PES (LS /NLHE - HEXH) 552,073 693,891 A 141,818
< 1,170
Al 550,903
| So& = 289,390 417,003 A127,613
< 1,170
Al 288,220
SH S 237,400 374,807 A 137,407
101 @124l 7,144 6,659 485
4 JI2ZtHZ22 s+ 7,144 6,659 485
OFSAH M L HIUMZH HSEe 7,144
—Jlas 51,760& = 18 = 110 5,694
— =54 51,7603 = 18 » 23¢ 1,191
— s sSsIt= 51,7603 = 1¥ = 5 259
201 Let24E] 135,969 135,664 305
01 At 22l 27,869 27,869 0
OZMERIXNA R 7,400
—MIE ERINM(HEMN L SESHAAM)
80,0003 * 402 A 3,200
—=ANE ERIANAM(HEMN L SESHAM)
70,0003 * 402 A 2,800
—&Jlg2 SE%5AMN 2XAA
70,0002 * 20t A 1,400
OFII2 SSUGA U2 2284
60,000 = 15002 » 13 900
OXNgAedd 50,000&  32& 1,600
ONYHYER A28 X 7Y
80,000& = 48 = 54 1,600
OSMHMEIl Z& 35,000& * 50& 1,750
OFSHE Z8H =&4| 700,000& =« 3CH 2,100
OXLUEHAZI HWEX (ANZE)
50,0003 502 A 2,500
ODXAMN I8 NEZEHI 3 7€ 10,019
— &4 553,000& = 8JH 4,424
= 1,937,000 * 124 1,937
—RAEEH EE 50,0002 * 3K 150
— XA 560,000& * 1K 560
— Z2IX N 938,000& * 1K 938
—EdAH XA 425,000& = 14 425
—EHEH 279,000& = 14 279
— 32 |FUE 1,306,000& * 14 1,306




2N N2

o2l XA —‘?’—D_Pé'zg - o (cho &)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
02 3322l 108,100 107,795 305
OHYIXIZ 48 =25 50& = 25,000A 1,250
ONAAHH S8 =2 80& = 80,000 6,400
OXNEAMN Hi=d =2 50& = 50,000A 2,500
OCD/ATM, ARS 2tEHY SR =25
100& = 20,000H 2,000
OXZAM DXM SEHZ(AIMEZE) 80,250
— &I 1,950& = 10,0004 19,500
— gt 2703 = 225,000A 60,750
OXNYM &&ID] SXNNE = 4,800
—J=TelH KA 400,000& = 12& 4,800
ONaAHBSEALEYE RRNE S
234,160 » 12& 2,810
OMYSE ARS 2ZtEHYRAIAE KRB+
1,155, 710& = 7& 8,090
203 R =&Yl 2,700 3,000 A 300
03 A FA AR ZAY| 2,700 3,000 A 300
OM=3U €2 =& 2,700,000& = 14 2,700
204 X2 FH| 37,200 37,200 0
03 EZ YA 37,200 37,200 0
ONSREEZ2H 100,000& = 31 = 12& 37,200
306 23 6,585 6,342 243
01 &3 6,585 6,342 243
OXNgMEEIIS £2H3 6,585,000& = 14 6,585
308 XXl EHH SOl A 47,802 42,942 4,860
1037/ 2SoHUHeB A ALS I 47,802 42,942 4,860
OHEZXNEAM 249 X4l 27,460,000& * 14 27,460
O XNgAM 89 X&-l 17,293,000& * 14 17,293
ONHEEANAE 2% XAl
1,468,000& = 14l 1,468
ONESYLZANLAE 2% K&
1,5681,000& * 14 1,581
AM 20E 5 48,070 38, 156 9,914
101 1A dl 21,430 13,316 8,114
M4 DIt ZE2EXNSES 21,430 13,316 8,114
OAM BHEXtE A4 L T AFH| 21,430
—Jlas 51,7603 = 398 = 110 17,081
- &5 51,7603 = 3H » 23¢ 3,572
— s sSsIt=E 51,7603 = 3H » 5¢ 77
201 L2l 26,640 24,840 1,800
01 At 22l 26,640 24,840 1,800




EM: NS
HM: NFEMNMILES= (Lt 2 /X LHA - HEXH)
©2: XNYA S = (9 ® =)
- _ _ RE]
SA BB (SH) - NRAY - B Ol &F o4 %@ﬁ HRE2
OAM E82IDXA S0 15,400
— XN=SO0l™H 2XAAM 70,000 = 408FA 2,800
—AJ)|2 SGHIXNAGBH M=)
70,000 = 15082+ A 10,500
—&HII2 YHNIXNN(MAKN EX2)
70,000 = 308FA 2,100
O&IIZ2 AN 48 E288 L0 (XA ASAHES
) 60,000 * 1504 * 73] 6,300
OFINE NN H8 =s282Z0 AIS2
10,0008 = 202 = 204 = 53] 2,000
OYFANXYMAAAAE BHEY
70,0003 * 7H % 63| 2,940
(S)X A Y W 3,920 4,040 A 120
o 1,170
Al 2,750
202 044l 3,920 4,040 A 120
= 1,170
Al 2,750
03 =220 3,920 4,040 A 120
OLEANZER] ZMMHE Ul 2Ast
3,920,000& = 1&H 3,920
= 1,170
Al 2,750
Mg A= 69,960 78,112 A8,152
Mg A 69,960 78,112 A8, 152
201 2Bt 2 Ayl 55,960 66, 112 A 10,152
01 AP 22| H| 16,100 16,100 0
O =2 a0t DX A
70,000& * 102+A 700
OXYgAM MEDXM 22 70,0008 » 1008 A 7,000
OXNSX HS ot HX 2 MASK
500,0008 = 38FA 1,500
OMEAM dHMEe 8258 840
60,000 * 15004 * 63l 5,400
OME X e s X0 &0t
60,000& * 54 = 53] 1,500
02 2224 H| 39,860 50,012 A 10,152
OMEMHEDIAN &8 22
2702 * 10,0004 * 73| 18,900
OXNSXHHSTAX LA &8 22
2704 * 6,000 1,620
ONXEI s 2 1,000& = 2,000 2,000
ONAEESANAY SXELH (AMESX, A
A Xl,0l01X) 797,500 * 8& 6,380
ONMYXZ28HAEE HI0 HE ER2
1,950& = 3004 585
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EM: NS
HM: NFEMNMILES= (Lt 2 /X LHA - HEXH)
Sl MY I CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
OMY X MEXHE2 A & SIA g2 2H
2= 1,950 = 5004 975
OZ20Ud XS (SHIBESHE ML)
600,0002 * 43 2,400
OdEae X3 HHlA ol22 (025089 0| et
xg) 4,000,0008 * 14! 4,000
OME X Aol & ol HIS
3,000,000& = 1A 3,000
303 ZA& 2 14,000 12,000 2,000
01 LAZ 14,000 12,000 2,000
OMNE T MM A ZTAZ
5,000,000& = 23| 10,000
ONEE Helsg F2Ta3
2,000,000& = 23] 4,000
Mo+ 2E 42,164 59,929 N 17,765
M2l 208 42,164 59,929 N17,765
101 e1214| 7,144 6,659 485
04 J|12tHIZ22NEES 7,144 6,659 485
OM2+2 & XA 2HE & SZSIA
o= 7,144
—J=22 51,7604 ~ 1 = 110 5,694
- =54y 51,7602 * 1% » 232 1,191
— IR s& I 51,760& * 1¥H = 5Y 259
201 Bt 9,420 9,420 0
01 AP 22| H| 9,420 9,420 0
ONYYLHE 200 = 1,0000H 200
ON2+= 20X A 70,000& = 90BFA 6,300
ON24+ Mg dHAEe &0t
60,0003 * 1504 * 23] 1,800
OJIRMARIRE Ba 2
70,0008 = 8" x 23| 1,120
308 XX SHHSOIH 23,000 28,250 A5,250
10 BI| 2 SH st A A e A 23,000 28,250 N5,250
OM2E=LAIAE X E2=H|
23,000,000& * 14! 23,000
405 XHo&HF S HI 2,600 15,600 A 13,000
01 XA E B F S| 2,600 15,600 A 13,000
OF=USK RZAHI| 7Y 2,600,000€ = 1CH 2,600
ONE =ER DA T AL 149,559 137,847 11,712
OHE F=EOLAH XA 149,559 137,847 11,712
101 e1214| 39,339 32,997 6,342
04 J|12ZtHIZ22NEES 39,339 32,997 6,342




2N N2

Ha: NFENESS(LNITYUZ /NS - YIAY)
EH A
-/ -/

el g = T A (&)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
OME=eItA ZARE 39,339
—-Jlas 51,7603 = 10¥ * 30 = 23 31,056
-5 51,7603 = 10Y * 6L x 23| 6,212
~HXNRIENLY
51,7603 = 10Y * 2& « 23| 2,071
201 L2l 107,700 102,330 5,370
01 At 22l 107,700 102,330 5,370
ODIBAl BEF2012 Az442
75,0003 * 1000 = 1/2 3,750
OMBFeIIA 4FEN RO
50,000& » 25+ A 1,250
OME=EItA ZALE 7O
50,000& » 30 A 1,500
OEZ20Aayl 2,520
—HE=EIIAAL L METNE dEHS
6,000% * 3 » 1402 = 23| * 1/2 2,520
ONYFI2 ZAOY S 28 20 84
9t 60,000& = 15004 * 23] 1,800
ONYFHIN B &4
8,000&  1,0000H 8,000
OMEFeIt2 88 S 81 2Y
35,000& = 1008 3,500
OMNEFEDIA dZHIA S =2 77,440
—&FEIA ZE
48,400& * 25,0005 * 12% * 1/2 72,600
—SANEINZR ZE
48,400& * 500 * 50% * 30% * 1/2 1,815
—AFONY 2B
48,4003 * 250 * 50% * 1/2 3,025
ORSHEIALS B 2
0,000& * 12 * 73| = 1/2 2,940
OMNEZ=eDId S&XZA T2 A E 4l
600,000& * 10copy * 1/2 3,000
OMNYE =413 8 & X AH(MAPFINDER) H D] &
SSZA XA E24HI1,000,0008 = 4TH * 1/2 2,000
202 O4dl 2,520 2,520 0
01 = LH 4 Hi 2,520 2,520 0
OMg=eliage =2 2,520
— 2t o4 dl
20,0003 » 3Y * 7 = 12& = 1/2 2,520
N = 1,000 1,000 0
@224 MI_EZAM 1,000 1,000 0
201 LB-2E| 1,000 1,000 0
01 At 22l 1,000 1,000 0
OXNEAMN MEZALM ROl 2,500& = 400A 1,000
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2A: MR
FH: HE2AZH (M) (I1EH/IIE
chelr D123l
SA BB O () - MM - HES il
HY2AZH (M) (IIEHIIE 165,902 165,902
=24 165,902 165,902
Jl2zl 165,902 165,902
201 L2l 32,102 32,102
01 At 22l 32,102 32,102
O=SMEXN 7L 15,000& » 312FA « 128 5,580
OS20AH| 6,000& * 64l » 31" * 123 13,392
oget =2 100,000& = 12& 1,200
OAL7E EAFLLI 50,000& = 12& 600
Oa2m 2 =4t 9,470
— SAMI| =2l 500,000& =« 2CH 1,000
— Z2lHI| =2l 100,000& * 5CH » 50/100 250
— =AM EYH 200,000& = 53| = 20H 2,000
—ZEHI(EY) EY
200,000& = 53] = 504 5,000
—PC =¢cl 100,000& = 31CH = 20/100 620
— JIE =2ldl 50,000& = 12& 600
OJIEL AR 22|l 5,000& = 31 = 12&8 1,860
202 oddl 128,340 128,340
01 = LH 4 1l 128,340 128,340
OM=S I =& ol 128,340
— 2o bl 20,000& = 319¥ = 12 » 12& 89,280
— 220 dl 90,000& = 31" » 14¢ 39,060
203 AR EFH| 4,260 4,260
04 EN2YALETY 4,260 4,260
ORA2EIRFAHI 355,000& = 12& 4,260
204 XA HI 1,200 1,200
0 ABZSHRHZFY 1,200 1,200
OXHHMS AR -HIH (MR UE)
100,000& = 1H » 12& 1,200




